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Internal Assessment Test — III

Sub: | Engineering Mathematics - 111 Sub Code: | 17MAT31 | Branch | g
Date: | 19.11.2018 |Duration: | 90 min’s Ml\gflfs* 50 Sem/Sec: HIECS-B,C OB
Question 1 is compulsory. Answer any SIX questions from Question 2 fo 9 _ MARKS CO | RBT
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1. iState and prove Euler’s theorem.

5 1 [07] O3] 13
" [Fest for an extremum of the functional 7 = _[ (xy+y* =27y, y(0) =1, p() =2
Y

7 i [07]  [CO6] 13
3. |Use Simpson’s rule to evaluate .[—;and hence find log,7.
| .

4. |The velocity v of a particle at distance s from a point on its path is given by the
" [table below. Estimate the time taken to travel 60 metres using Weddle’s rule.
S metres 0 10 20 30 40 50 60
V m/sec 47 58 64 65 61 52 38

[071 [co6] 1.3
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Internal Assessment Test — II1
Sub Code: | 17MAT31 ’ Branch: | CS

Sub: | Engineering Mathematics - 111 :
Date: | 19.11.2018 {Duration: | 90 min’s M]\g?lfs‘ 50 Sem / Sec: | I CS-B,C ORE:
Question [ is compulsory. Answer SIX questions from Question 2 fo 9 MARKS CO RBT

1. |State and prove Euler’s theore m. [08] |CO3| L3

5 1 071 ox] 13
" [Test for an extremum of the functional / = _[(xy +y° =2p*dx, p(0) =1, (1) = 2
0

tdx [07] [CO6i 1.3
3. [Use Simpson’s rule to evaluate j—and hence find log,7.
x
1

The velocity v of a particle at distance s from a point on its path is given by the 071 [COsl L3

4' table below. Estimate the time taken to travel 60 metres using Weddle’s rule.
S metres 0 10 20 30 40 50 60
V m/sec 47 58 64 63 61 52 38
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